Mathematical Easter Egg Decoration
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5. What is the length of the shortest distance between the two lines drawn in instructions #3 and #4? ________  Draw a line of that length from point (2,4) towards and perpendicular to the line drawn in instruction #3.  Similarly, draw a line of that length from point (-2,4) towards and perpendicular to the line drawn in instruction #2.

6. Draw a line parallel to the x-axis, passing through point (-1,4).

7. What is the y-intercept of y=2x+4? ________  Draw that many polka-dots between the line drawn in instruction #6, and the top of the egg.  Graph the line represented by y=2x+4 from the y-intercept to the point where it meets the x-axis.  Do the same with the line represented by the equation y= -2x+4.

8. Draw 2 lines which have an undefined slope from the x-axis to the bottom of the egg:  one through point (-2,0) and the other through point (2,0).

9. If a line passes through (2,-1) and (-1,-10), what is it’s slope? _______  Double your answer and draw that many triangles between the two lines you graphed in instruction #8 and below the x-axis.

10. Draw 3 parallel lines with any positive slope from the line of undefined slope through (2,0) to the right edge of the egg.  What slope did you choose? _______

11. Draw 3 parallel lines perpendicular to the ones you drew in instruction #10 from the line of undefined slope through (-2,0) to the left edge of the egg.  What slope do they have? ________

12. If the points (-1/4,-4/3) and (7/4,-1/3) were joined with a line, what would be the length of that line? _________  Square this answer and draw a spiral with that many ‘rings’ inside the central isosceles triangle above the x-axis.

Draw a line with a slope of 1 from point (-2,4) to the left edge of the egg.


Draw a line parallel to the line drawn in instruction #1 from the point (0,4) to the left edge of the egg.  What is the slope of the line? _______


Draw a line perpendicular to the line drawn in instruction #2 from the point (0,4) to the right edge of the egg.  What is the slope of the line? _______


Draw a line parallel to the line drawn in instruction #3 from the point (2,4) to the right edge of the egg.  What is the slope of the line? _______














